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QID : 101 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the
appropriate option. If a sentence is free from error, select 'No Error'.

She was (1)/ quite amusing (2)/ at that story. (3)/ No error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 102 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the
appropriate option. If a sentence is free from error, select 'No Error'.

Money bills could only be introduced in the Lok Sabha, (1)/ and upon being passed, are sent to the Rajya Sabha, (2)/ where it can be deliberated upon for
upto 14 days. (3)/ No error (4)

Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 3

QID : 103 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four
and indicate it by selecting the appropriate option.

I not attend the party.
Options:

1) probably be

2) will be

3) won't

4) shall

Correct Answer: shall

Candidate Answer: shall

QID : 104 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four
and indicate it by selecting the appropriate option.

Happy thoughts release hormones that work for our well-being and negative thoughts release hormones that make us .
Options:
1)ill

2) happy
3) excited
4) rejuvenated

Correct Answer: ill
Candidate Answer: ill

QID : 105 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Accolade
Options:
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2) Mediocrity

3) Laurels

4) Lowliness

Correct Answer: Laurels
Candidate Answer: Lowliness

QID : 106 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Invective

Options:

1) Invent

2) Expressive

3) Abusive

4) Invitation

Correct Answer: Abusive

Candidate Answer: Expressive

QID : 107 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Elated

Options:

1) Inspired

2) Cheered

3) Disheartened

4) Encouraged

Correct Answer: Disheartened

Candidate Answer: [ NOT ANSWERED ]

QID : 108 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Baneful

Options:

1) Harmful

2) Cruel

3) Disastrous

4) Lucky

Correct Answer: Lucky
Candidate Answer: Cruel

QID : 109 - Rearrange the parts of the sentence in correct order.

To many women human rights are
P : foreign to their culture and

Q: of individual and community identity
R : challenge deeply held notions
Options:

1) PQR

2) RPQ

3) QPR

4) PRQ

Correct Answer: PRQ

Candidate Answer: PRQ

QID : 110 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Some girls were helping the wounded men.
Options:

1) The wounded men were helping some girls.

2) The wounded men were being helped by some girls.
3) The wounded men are being helped by some girls.
4) The wounded men received help from some girls.

Correct Answer: The wounded men were being helped by some girls.
Candidate Answer: The wounded men were being helped by some girls.

QID : 111 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence
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Shyam said, “My master is eating.”

Options:

1) Shyam inform that his master is eating.

2) Shyam say that his master is eating.

3) Shyam and his master was eating.

4) Shyam said that his master was eating.

Correct Answer: Shyam said that his master was eating.

Candidate Answer: Shyam said that his master was eating.

QID : 112 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Asassination

2) Assasination

3) Assassination

4) Assaissination

Correct Answer: Assassination

Candidate Answer: Assassination

QID : 113 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

A little thought will show you how vastly your own depends on the way other people bear themselves toward you. The looks tones
at your breakfast-table, the conduct of fellow-workers or employers, the or unreliable men you deal with, what people say to
you on the street, the way your cook and housemaid do their work, the letters you get, the friends or foes you meet,--these things make very

much of the pleasure or misery of your day.

how vastly your own depends on the way
Options:

1) happiness

2) happy

3) happily

4) happiest

Correct Answer: happiness

Candidate Answer: happiness

QID: 114 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

A little thought will show you how vastly your own depends on the way other people bear themselves toward you. The looks tones
at your breakfast-table, the conduct of fellow-workers or employers, the or unreliable men you deal with, what people say to
you on the street, the way your cook and housemaid do their work, the letters you get, the friends or foes you meet,--these things make very

much of the pleasure or misery of your day.

The looks tones at your breakfast-table
Options:

1) but

2) if

3) then

4) and

Correct Answer: and

Candidate Answer: and

QID : 115 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

A little thought will show you how vastly your own depends on the way other people bear themselves toward you. The looks tones
at your breakfast-table, the conduct of fellow-workers or employers, the or unreliable men you deal with, what people say to
you on the street, the way your cook and housemaid do their work, the letters you get, the friends or foes you meet,--these things make very

much of the pleasure or misery of your day.

the conduct of fellow-workers
Options:

1) you

2) your

3) them

4) they

Correct Answer: vour
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QID : 116 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

A little thought will show you how vastly your own depends on the way other people bear themselves toward you. The looks tones
at your breakfast-table, the conduct of fellow-workers or employers, the or unreliable men you deal with, what people say to
you on the street, the way your cook and housemaid do their work, the letters you get, the friends or foes you meet,--these things make very

much of the pleasure or misery of your day.

employers, the or unreliable men
Options:

1) faithful

2) faith

3) faithfully

4) faithfulness

Correct Answer: faithful

Candidate Answer: faithful

QID : 117 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

A little thought will show you how vastly your own depends on the way other people bear themselves toward you. The looks tones
at your breakfast-table, the conduct of fellow-workers or employers, the or unreliable men you deal with, what people say to
you on the street, the way your cook and housemaid do their work, the letters you get, the friends or foes you meet,--these things make very

much of the pleasure or misery of your day.

things make very much of the pleasure
Options:

1) up

2) upon

3) above

4) on

Correct Answer: up

Candidate Answer: up

QID : 118 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

At somebody's expense

Options:

1) Paid for by someone.

2) To blame a crime on someone else.

3) The unlucky persons who lose a race.

4) If one person benefits it is always at the loss of another.

Correct Answer: Paid for by someone.
Candidate Answer: To blame a crime on someone else.

QID : 119 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Cock and bull story

Options:

1) An implausible story used as an explanation or excuse.

2) A fairy tale told down generations.

3) A story of animals with hidden morals.

4) The meek can defeat the bully by being clever.

Correct Answer: An implausible story used as an explanation or excuse.

Candidate Answer: An implausible story used as an explanation or excuse.

QID : 120 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

An upright bar, post, or frame forming a support or barrier
Options:

1) Repose

2) Stanchion

3) Recumbent

4) Supine

Correct Answer: Stanchion

Candidatae Ancwar T NNOT ANSWERED 1
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QID : 121 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A routine task, especially a household one
Options:

1) Chore

2) Servitude

3) Moil

4) Travail

Correct Answer: Chore

Candidate Answer: Travail

QID : 122 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Opening the door to her each morning is like (lets) a breath of fresh air into my world.
Options:

1) let

2) to let

3) letting

4) no improvement

Correct Answer: letting

Candidate Answer: letting

QID : 123 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

What seeds you (has sow) in the garden of your mind determine the quality of life you shall have.
Options:

1) sowing

2) sow

3) had sow

4) no improvement

Correct Answer: sow

Candidate Answer: sow

QID : 124 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

If your ward talks

A-well to convince you, be

B-social and interpersonal creativity
C-proud that he or she has
Options:

1) ABC

2) ACB

3) CBA

4) CAB

Correct Answer: ACB

Candidate Answer: ACB

QID : 125 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) arbittrates

2) arbitrates

3) arbetrates

4) arbettrates

Correct Answer: arbitrates
Candidate Answer: arbitrates

QID : 126 - In the following question, select the related word pair from the given alternatives.
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1) Rabbit : White

TGN : Gihe

2) Peacock : Bird

R : uaf

3) Crow : Flies

hYSIT : I&T

4) Krishna : Speak

RSOTT ; FeAT

Correct Answer: Peacock : Bird
AR uef

Candidate Answer: Peacock : Bird

R : geft

QID : 127 - In the following question, select the related number from the given alternatives.
13:167::23:?
frafafea w7 Ry 7o Reeat & & Taifda g ot gfg)

13:167::23:?

Options:
1) 527

2) 525
3) 531

4)532
Correct Answer: 527
Candidate Answer: 527

QID : 128 - In the following question, select the related letter pair from the given alternatives.
PIR:OHQ::? :?
frafafea w7 Ry 7o et & @ gaifda sier gm ot 9wl

PIR:OHQ::? :?
Options:

1) KLO : MOR
2)LNT:JLQ

3) FAX : EZW

4) KMN : LNO

Correct Answer: FAX : EZW
Candidate Answer: FAX : EZW

QID : 129 - In the following question, select the odd word pair from the given alternatives.

frafefea uer 7 Ry g fRienedt & @ fawe <reg gm &t gl

Options:

1) Carnivorous - Tiger

AIOERY - o

2) Herbivorous - Cow

MHERT - TR

3) Rabbit - Herbivorous

TN - ATRIGRY

4) Carnivorous - Dog

AR - Fl

Correct Answer: Rabbit - Herbivorous
TN - TSR

Candidate Answer: Carnivorous - Dog
AEERY - F

QID : 130 - In the following question, four number pairs are given. The number on left side of (-) is related to the number of the right side of (-) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

2 Ry g v A, IR S g Ry Mg €1 (-) & arff ok & e (-) & arft ok & S T ¥ Ieh/Fee § awifdd 81 i St ge adh/fae o saR iR 99 €1 iy g et A @

Y on, . W o S
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1)8-64
2)6-36
3)4-16
4)2-12
Correct Answer: 2 - 12

Candidate Answer: 2 - 12

QID : 131 - In the following question, select the odd letter/letters from the given alternatives.

frfafeEa uy § Ry 7 frereat & & fawe srer/srert & gl
Options:

1) SW

2) GK

3)F

4) DG

Correct Answer: DG

Candidate Answer: DG

QID : 132 - From the given alternatives, according to dictionary, which word will come at FIRST position?

1. Clause
2. Cigar
3. Clever
4. Cinema
5. Client

fog g faehedt & §, Tsghier & SITER, I T a2 Gl W TR SATT?

1. Clause
2. Cigar
3. Clever
4. Cinema
5. Client
Options:
1) Cinema
2) Client
3) Cigar

4) Clause
Correct Answer: Cigar

Candidate Answer: Cigar

QID : 133 - In the following question, select the missing number from the given series.
34, 69, 140, 283, ?, 1145
fafefed uy 7 Ry 71 Renedt 7 @ g s 71a HIfST

34, 69, 140, 283, ?, 1145
Options:

1) 440

2) 545

3)570

4) 625

Correct Answer: 570

Candidate Answer: 570

QID : 134 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
CX, EV, GT, IR, ?

Teh SreRd fon man &, fOrTE € Uk U g 81 fiw Ty faehedt § € ag wet faeen g, St SrgeRd @l i R

CX, EV, GT,IR,?
Options:

1) LP

2)LQ

3) KP
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Correct Answer: KP
Candidate Answer: KP

QID : 135 - In a row of boys, Rahul is 19t from top and Ajay is 215 from bottom. They interchange their position. Ajay now becomes 28" from bottom. How
many total boys are there in the row?

TASh! Y Tap Uik H, Tgel HUR T 19-af & qT 3o A § 21-af §1 F 37U WH URTWR 31U F Fad Ad &1 3191 fal =1 & 28-af gt i1l &1 Ufch & et o eiedh &7
Options:

1) 47

2)46

3) 45

4) 48

Correct Answer: 46

Candidate Answer: 46

QID : 136 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Liabilities
fag 7y Rreredt & @ a5 2res gAY o Rw TY 2reg & S1eRY BT TR ek G ST ST ekl 21

Liabilities

Options:

1) Lite

2) Able

3) Like

4) Table

Correct Answer: Like

Candidate Answer: Like

QID : 137 - In a certain code language, “HARMS" is written as “81181319" and “FLUTE" is written as “61221205". How is “WOUND" written in that code
language?

e faftre wie wror &, “HARMS” &l “81181319” forar S17dm & aur “FLUTE” <t “61221205” forar Siar 81 59 shis o & “WOUND” &t forg UepR forar siraem?

Options:

1) 21144152
2) 21441514
3) 231521144
4) 171921415

Correct Answer: 231521144
Candidate Answer: 231521144

QID : 138 - In a certain code language, '+' represents '+, -' represents 'x', '+' represents '+' and 'x' represents '-'. Find out the answer to the following
question.

8+14-20+5x2=?
ford) Rfa el W & '+, '+ s yefRia ear @, '-', 'x' ol Uefid et g, '+, '+' &l UefRid &edr & 3R 'X', '-' &l UeiRid eear &1 FAerfeifad usy ar Sk I1d &l

8+14-20+5x2=7?
Options:

1) 46

2)62

3)32

4)14

Correct Answer: 62
Candidate Answer: 62

QID : 139 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
12-6x5+20+4=31

frfafea aefiee Tad &1 59 THtesur t 9el e & forg fohe < gl ot o F SraaTT-aget et a1ieg?
12-6x5+20+4=31

Options:
1\ + and =
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2)+and x

+ 3R x

3)-and +

3R+

4) +and x

+ 3R x

Correct Answer: + and x

+ 3R x

Candidate Answer: + and x

+ 3R x

QID : 140 - If 70*10 = -7, 50*5 = -10 and 10*5 = -2, then find the value of 80%1 =7

afg 70%10 = -7, 50*5 = -10 3R 10*5 = -2, df 80*1 T A 1 &2
Options:

1) 45

2)-25

3)20

4) -80

Correct Answer: -80

Candidate Answer: -80

QID : 141 - Which of the following terms follows the trend of the given list?
XYXYXYxy, XYXYXyXY, XYXYXyXY, XYXyXYXY, XYXyXYXY,
fafafea 7 8 oF 91 ue & i g2t & o9 & gER 87

XYXYXYxy, XYXYXyxY, XYXYxyXY, XYXyxYXY, XYxyXYXY,
Options:

1) xyXYXYXY

2) XYXYXYxy

3) XYXYXyxY

4) XyxYXYXY

Correct Answer: XyxYXYXY

Candidate Answer: XyxYXYXY

QID : 142 - Two trucks start from the same warehouse. Truck A goes 6 km North, then turns to its right and goes 4 km. In the meanwhile truck B goes 9 km
East, then turns North and goes 6 km, then turns to its right and goes 4 km. Where is truck B with respect to truck A?

31 gk Qo &1 e 8 Fererd 81 geh A ITR &t 3R 6 foh.A. Te STTaT 8, O ST arfeit ofR 1S ST1em 8 ofR ot 4 fohft g S1rar 81 59 ffa ¢ B gd A 9 fon.#ft Iep e 8, o SR &t
TR TS ST & 3R 3 6 5. S 8, O a8 Sum S9eh a1fet 9k 1S STran & $fR o1t 4 .+t ¥ ST 81 g6 A & dig & ¢oh B gl 82
Options:

1) 17 km East

17 Rt gd

2) 9 km West

9 fon.#f ufgm

3) 17 km West

17 . ufgm

4) 9 km East

9 for.#f gd

Correct Answer: 9 km East

9 frft o

Candidate Answer: 9 km West

9 fop.#f ufgm

QID : 143 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No mirrors are glass
Statement II: No reflective are mirrors

Conclusion I: All glass are reflective
Conclusion II: All reflective are glass

uy H g sy 33 € Owes omt &Y faserd 1 ofk 11 fRapret M2 €1 smuesl 7191 § o St et I @ 918 g T AT dedl @ 9 udia g gl smuest fAofa @ § i g g
frenst & @ pi9-g1/an9-8 RfYd U @ s gRT 98 el ST Gehar §/9d &, afe s 8l
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FY II: 1S off Riaea ador 78 8 &

frsp I: 9ot oiw WRedg ga &
frepdf II: 9 e o s g &

Options:

1) Only conclusion I follows

haot fashy 1 48t @

2) Only conclusion II follows

hae fsend 1T 9el &

3) Both conclusions I and II follow

gt feenef [ ofiR 11 Tt &

4) Neither conclusion I nor conclusion II follows

1 o freenef 1 @it & A & e 11

Correct Answer: Neither conclusion I nor conclusion II follows

1t fsed [ 9@t g = 8t e 11

Candidate Answer: Neither conclusion I nor conclusion II follows

1t Pre 1wt 3 1 & Freemf 11

QID: 144 -
In the following figure, rectangle represents Copywriters, circle
represents Cartoonists, triangle represents Comedians and square

represents Mothers. Which set of letters represents Copywriters
who are neither Comedians nor Mothers?

Frfafee i & ma sidces & wellia & ¢,
Ied FGAEC F TGN B ¢, O T A
Tefia e & 3R o At & il war g s
I W HE 37 Tiol@d H YERIA Al § S A o g
¥ & 3R & g2

G
KAF
A
J 7/ cND-\
/8/ E \

Options:
1) BE

2)CD
3) AF

4)IH
Correct Answer: IH
Candidate Answer: IH

QID : 145 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
NIP, KGO, HEN, ECM, ?

T e R T 2, v @ geh ue e 21 R g Rt # @ 7w @t Risrea T, S o B q@ vl

NIP, KGO, HEN, ECM, ?

Options:

1) CBM

2) BAL
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4) BBM

Correct Answer: BAL
Candidate Answer: BAL

QID : 146 - In the following question, select the missing number from the given series.
146, 137, 128, ?, 110, 101
frfafea uy 8 Ry 7y Reved! § & g sies 7 HfSig)

146, 137, 128, 2, 110, 101
Options:
1) 123

2) 121
3)117

4)119
Correct Answer: 119
Candidate Answer: 119

QID : 147 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number
by a Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

2 e 7o v 8, i dwei & R 99g 3 0 &1 U Tg A gut qe iRt 9 ugeht T § fonedt uen adh/faw @ T 21 i I ue adh/fem & enar R a9 &1 Ry
Q faehedt & § 9= @ gl

Options:

1) (44, 42, 36)

2) (56, 54, 48)

3) (38, 36, 32)

4) (64, 62, 56)

Correct Answer: (38, 36, 32)
Candidate Answer: (38, 36, 32)

QID: 148 -
If a mirror is placed on the line MN, then
which of the answer figures is the right
image of the given figure?
ofe; v gdoT &1 MN T@1 9 @1 S ar &
I SeeR Rl A & Fla-dr e e
R F W Sl @

M N

Options:
1)
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3)

Correct Answer:

Candidate Answer:

QID: 149 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

AT 3cck i & & ST & & R
AT wed HHid H & G &7 § TG AT

[0
DAY o
X

Options:
1)
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2)
o
> [h
(@,
°00[%
4)

%

Correct Answer:

D
><~’.X

Candidate Answer: [ NOT ANSWERED ]

X

QID : 150 -

A word is represented by only one set of numbers as given in any one of the altematives, The sets
of numbers given in the alternatives are represented by two classes of alphabets as shown in the
given two matrices. The columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrixl
are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by
its column, for example 'I' can be representted by 21, 42 etc and " can be represented by 69, 89 atc.
Similarly, you have to identify the set for the word 'TENS'.

T e Haw UF AGU-FAg g gurn g, o B Rwedt A @ TRl 0w &
fear mar ¢ Rt A e v Femm Rt ¥ o ot g gl A, o B
fow e & ymeggt # 81 megEl & e A ok A FE 0 @ 4 i el
#5897l 5 e ¥ & MR A T Iwh o i ag A e wen
AR i A &1 S & w1 F 21, 42 3 @ e o e d
Y 69, 89 Y cEW @i o1 wwr §1 S0 A § AR wE # Rv
WG ‘TENS' & fAU #og #F et £

Matrix | Matrix Il
-1 HEgE -1l
0 1 2 3 4 5 6 T B 9
0 L G 1 G B 5 v u W X X
1 F M H B E 6 Q 5 P v Y
2 E | D F H ts v Q v 5 0
3 1 K B M D 2 N P u N Y
4 L M | A M 9 T W x U Y
Options:

1) 95,14,85,78
2) 10,56,24,99

2Y 2N OA A1 AO
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4)24,77,22,78

Correct Answer: 95,14,85,78
Candidate Answer: 95,14,85,78

QID : 151 - Simplify: b-[b-(a+b)-{b-(b-a-b)}+2a]
TR §1G: b-[b-(a+b)-{b-(b-a-b)}+2a]

Options:

1) 2b

2)1

3)0

4)3b
Correct Answer: 0
Candidate Answer: 2b

QID : 152 - Simplify: (213 x 213 + 187 x 187)
A 14 (213 x 213 + 187 x 187)

Options:

1) 80338

2) 80438

3) 60338

4) 60438
Correct Answer: 80338
Candidate Answer: 80338

QID: 153 -
What is the remainder, when 4x* =10x" — 20x* =90 is divided by (x=2)7

Fd 4x* =10x° —20x° <90 F(x + 2) ¥ Tonfara Bhn F@n &, & 99 == 87

Options:
170

2)-6
3) 45

4)-90
Correct Answer: -6
Candidate Answer: -90

QID: 154 -
What will be the value of xy if x? + y? =45 and x—y=57

Xy @1 A FT G, 310 X7 + 2 =453 x—y=5 § 7
Options:

1) 10

2)15

3) 20

4) 25
Correct Answer: 10
Candidate Answer: 10

QID : 155 - The smallest angle of a triangle is 40° less than the largest angle. If the largest angle is 80°, then find the third angle of the triangle.
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Options:

1) 40°

2)90°

3)80°

4)60°

Correct Answer: 60°

Candidate Answer: 60°

QID : 156 - If the line DE is drawn parallel to the base BC of a triangle ABC by intersecting the other two sides, then which of the following is the CORRECT
equation for this case.

gf& 3@T DE @t A3t ABC & SMTER BC & THMIR Eideny, ol 3 3SY et Srafdeiford o feam Sirm 8, &t fre & & el 59 et & forg wgt aftesor 21
Options:

1) AB/DB=AC/EC

2) AD/AB=DB/EC

3) AD/DB=EC/AE

4) AD/DB=AE/EC

Correct Answer: AD/DB=AE/EC
Candidate Answer: AD/DB=AE/EC

QID : 157 - Price of 1 kg of sugar is increased by 30% and the increase is of Rs 48. What is the new price (in Rs) of the sugar per kg?

1 .7, =t & e l 30% & TEHT T § AU e 48 3 hY g3 &1 Ul ek am. R a1 T wew (7 ) w2

Options:
1)178

2) 160
3) 208

4)216
Correct Answer: 208
Candidate Answer: 208

QID : 158 - The sum of three numbers is 67. If the ratio of the first number to the second number is 3 : 5 and that of the second number to the third number
is 4 : 7, then what is the second number?

i Fearelt ot AT 67 €1 AfE Ugel ST T gER WAt ¥ SUTd 3 : 5 8 aUT GER AT T T ST § S1uTd 4 ;7 8, I gu S T 87
Options:

1) 20

2) 24

3)18

4) 16
Correct Answer: 20
Candidate Answer: 20

QID : 159 - A started a business with the capital of Rs 1800. After 4 months B joined with Rs 3600. 6 months after the business started C joined with Rs 1200.
If the total profit earned at the end of the year is Rs 1760, then what is the share (in Rs) of A?

A3 1800 ¥ &Y Gsit & TT Uk ATIR [ foRaT| 4 7ER gy B, 3600 & & T1Y MR EidT &1 STUR [T &1 & 6 A ggqd C, 1200 T & 91 A giar &1 31 af & ofd & gt ey
1760 & ™ 74T §, dt A 1 i (3 7) an &2

Options:
1) 540

2) 660
3) 840

4)720
Correct Answer: 660
Candidate Answer: 660



QID : 160 - The average of 8 consecutive inteWWW%MﬁWEX@B@eiGT first th@W@@'&d by IBT

8 ShATTT YuUIfeht T Sftad 23/2 &1 WM i quifert a1 oftad am 82

Options:
19

2)19/2
3)8

4)10
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

QID : 161 - Simple interest on a sum for eight months at 6% per annum is Rs 340.What is the value (in Rs) of sum?

Tk A WR 6% Ufaas &6l &R F 31TS TG hT JIeROT &TST 340 < &1 A 1 A (3 H) R 82

Options:
1) 8500

2) 9500
3) 8000

4) 6800
Correct Answer: 8500
Candidate Answer: 8500

QID : 162 - A trader sells wire and gains 60% on the cost price. What will be the profit percentage on selling price?

Qe fArshdT IR ST § 4T 558 70 WR 60% T AT & | fIshd T IR AT Hidierd am gim?

Options:
1)33.33

2)40
3) 60

4)37.5
Correct Answer: 37.5
Candidate Answer: 37.5

QID : 163 - Marked price of an article is Rs 520 and selling price is Rs 384.8. What is the discount percentage?

ek a%g ol Sifchd Je 520 ¥ & a1 fasha Iea 384.8 % &1 §e ufad Fm 82

Options:
1) 26

2)24.42
3)35.13

4) 29
Correct Answer: 26
Candidate Answer: 24.42

QID: 164 -
What is the value of
5 : 5 _ 5 : 5 -
N2+41 B2 Jas3 T J21+4120
5 5 5 5

B B Al T 20

AT 4T 87
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1) 25
2) 50
3) 100

4)75
Correct Answer: 50
Candidate Answer: 100

QID : 165 - Ram and Shyam undertook a work for Rs 5600. Ram alone can do the work in 5 days and Shyam alone can do the work in 9 days. If they work
together, then what will be the difference (in Rs.) in the amount they receive?

IH AT TTH = Teh 1l ol 5600 T & forar| A7 3rchelT 39 i ol 5 A1 & qor <1 3rchett 3T o @t 9 A1 & o Gepar &1 fe a1 a1 o e, ot &1 ot e arelY f & SfeR
(¥ 9) s g

Options:
1) 1800
2) 2400
3) 2200

4) 1600
Correct Answer: 1600
Candidate Answer: 1600

QID : 166 - A man covered a certain distance by a train at the speed of 40 km/hr and covers the same distance back by walking at the speed of 8 km/hr. If
the whole journey took 12 hours, then what is the one side distance (in km)?

Teh 2t 40 fh.#f./ger i fd & Te arelt et gRT uak FAfYa o 9 ohear & Ut gt gt ag arueh # 8 R /ger Fr iy § et It ag e 81 af g amn F 12 6 o §,
t Ger R et g (foh. . ) T g2

Options:

1) 80

2) 60

3) 90

4)100

Correct Answer: 80

Candidate Answer: 80

QID: 167 -

The pie chart shows the breakup of expenditure of a
trading company for the year 2017. Study the diagram
and answer the following questions.

g 913 ¢ a¥ 2017 & v v e auel & g
&1 faareer wefdia &Xar B 30 3MT &7 JHeTTeT &Y
IR PR wat & 3w 3

Expenditure (in Rs Lakhs) / 209 (aT@ 594 #)
Logisties .
: s
=4 150

The second highest expenditure is for which item?
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Options:
1) Rent
foReran

2) Marketing
frgu=

3) Logistics
EEIGEESEE]

4) Accounts

el

Correct Answer: Marketing

oo

Candidate Answer: Marketing

fgum=

QID: 168 -

The pie chart shows the breakup of expenditure of a
trading company for the year 2017. Study the diagram
and answer the following questions.

g 915 dIc a¥ 2017 & v v B Fuer & cay
&1 fasrsa gefdia ar §1 38 3@ &7 3ega3d Y
3R fefaf@a geat & 3car &

Expenditure (in Rs Lakhs) / 209 (7@ 94 #)

Logisties
/T
4 150

What is the total expenditure (in Rs lakhs)?

T T (ARG T H) F18?
Options:

1) 2200

2) 2400

3) 2100

4) 2000

Correct Answer: 2400
Candidate Answer: 2400

QID : 169 -

The pie chart shows the breakup of expenditure of a
trading company for the year 2017. Study the diagram
and answer the following questions.

g 915 9I¢ a¥ 2017 & v v B Suer & cay
&1 et 9efdia 3ar 1 38 3@ &1 Jeaa9d &Y
3R Ffaf@a gt F 3o &)

Expenditure (in Rs Lakhs) / &0 (@ 99 #)
Lanltks QSR T

- Powered by IBT
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The measure of the central angle of the sector representing Rent is degrees.

fora a1 fafAfare o aTet & & Sl ShioT &l AT faft &1
Options:

1) 50

2) 60

3)75

4) 40

Correct Answer: 60
Candidate Answer: 60

QID : 170 -

The pie chart shows the breakup of expenditure of a
trading company for the year 2017. Study the diagram
and answer the following questions.

TE aIE WE a 2017 F AT wH T S & o
&1 fauTesT 9efdia tar 1 38 3@ &1 7734 &Y
it Pfaf@a st & 3w &)

Expenditure (in Rs Lakhs) / 209 (@@ T94 #)
Logistics _— 3
| TR- )

=4 150

Expenditure on Sales and Marketing constitute what percent of total expenditure?

farsht ofR fauur W= fohar ST arer e gt 29 ot foha T Tfaerd 82
Options:

1) 30%

2) 36%

3) 27.5%

4) 33.33%

Correct Answer: 33.33%

Candidate Answer: 33.33%

QID : 171 - The side of an equilateral triangle is 8 cm. Find its area (in cm?2).

Qe GHaTg ST &t 9ot 8 T, §1 3qeh athet (a7t E.A1. H) 3 )
Options:
1) 25v3

2)16v2
> /9
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Correct Answer: 16V3
Candidate Answer: 16v3

QID : 172 - The area of a circle is 346.5 cmZ. Find its circumference (in cm).

Ueh g1 T &thet 346.5 o7t .7, &1 gt uRfY (.4, &) I &)
Options:

1) 132

2)38

3) 66

4) 76

Correct Answer: 66

Candidate Answer: [ NOT ANSWERED ]

QID : 173 - Find the total surface area (in cm?) of a cube of side 7.5 cm.

7.5 §.5. 9[ST aTet Uk °9 & Tag I T &A% (7T T.H. H) T e
Options:

1) 364.5

2) 446

3)337.5

4) 684

Correct Answer: 337.5

Candidate Answer: 337.5

QID : 174 - What is the value of (tan45° + 1/v2) ?

(tan45° + 1/v2) &1 914 a1 &2
Options:

1) 5/V3

2)7/2V3

3) (V2+1)/V2

4) 4/V3

Correct Answer: (V2+1)/V2

Candidate Answer: (V2+1)/V2

QID : 175 - APQR is right angled at Q. If cosecP = 17/15, then what is the value of sinR ?

APQR & Q R g9ahIvT §1 Tf cosecP = 17/15, @ sinR &1 A9 41 87
Options:

1) 15/17

2) 8/17

3)17/8

4)17/15

Correct Answer: 8/17

Candidate Answer: 8/17

QID : 176 - "Global Competitiveness Report" is released by which of the following organization?

"reAlee shirfefeany Ruid" Fmafafla # fg dme grr st &t sirdt 87
Options:

1) WTO

Seegdtelt

2) WEF

I

3) SAARC

qreh

4) EU

&

Correct Answer: WEF
ST

Candidate Answer: WTO

Seegdtan

PVNTES o AT oo omomem ool o o o s T Al i
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Options:

1) Union List

e et

2) State list

T et

3) Concurrent List

Fadt gt

4) No option is correct.

3 faehed Tel Tol ol

Correct Answer: Concurrent List
gt gt

Candidate Answer: Concurrent List

g gt

QID : 178 - Which of the following indicates the circle of the Saranath Pillar?

GRATY &Y I Ieh A 7 § fhd g aear &7
Options:

1) Law

LIS

2) Revolution

whifd

3) Progress

wfa

4) Religion

e

Correct Answer: Progress

i

Candidate Answer: Progress

T

QID : 179 - Which of the following is related to the Tinkathiya Pratha?

frfemmarm gdy A=A S ro aaa 82
Options:

1) Champaran

RO

2) Kheda

ger

3) Bardoli

ARSI

4) Darbhanga

AT

Correct Answer: Champaran

RO

Candidate Answer: [ NOT ANSWERED ]

QID : 180 - The distance between the two latitudes is approximately

QoeiudEet Fda R @ anmadd |-
Options:

1) 111 miles

111 e

2) 121 miles

121 die

3) 111 km

111 foft.

4)121 km

121 fenet,

Correct Answer: 111 km

111 foaedt.

Candidate Answer: 121 km
121 ot

QID : 181 - Which place is now known as 'White Water' in India?
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Options:
1) Leh

G

2) Ladakh
SELC

3) Kargil
HRIAA

4) Siachen
Rt

Correct Answer: Siachen

e

Candidate Answer: Siachen
R

QID : 182 - Leela Samson is associated to which classical dance style?

StelT SR T dety foh el o et § 87
Options:

1) Bharatanatyam

WRAATRHA

2) Kathakali

heqchett

3) Kuchipudi

LRI

4) Odissi

snfedt

Correct Answer: Bharatanatyam
WRAATEH

Candidate Answer: Kuchipudi

Pager

QID : 183 - At which place a joint military exercise 'Yudh Abhyas’ was held in September 2017 between United States and Indian army?

fAdeR 2017 # foh WIH R gg 9’ & 1 & Yoh Ggch I STIATE STHRAT T HRA SfAen! o drd gom o1?
Options:
1) Pune

kil

2) Newyork

T
3) Vishakhapattnam
IEEUECIPSEL

4) Washington

afie

Correct Answer: Washington
arfie

Candidate Answer: Pune

o

QID : 184 - Which Bollywood actor was honoured with the 24th Crystal Award at the world Economic Forum meeting in January 2018?

fore dfcligs ST At SHadt 2018 # fay snfefe 79 W 24-9 foheea sraT€ § wrta fopar mam?
Options:

1) Shahrukh Khan

RUREZCKEIE)

2) Aamir Khan

MR @=

3) Salman Khan

HqE ©@H

4) Saif Ali Khan

A 3l @H

Correct Answer: Shahrukh Khan
AEEE -

Candidate Answer: Shahrukh Khan
Mg GTq

OIN * 196 _ Thea caffran.aranne olatir nf RBhiitan’ce natinnal flan evimhalizac



B Sk

www.makemyexam.in - Powered by IBT

¢ % AL &S T haRAT-ARAT AT 1 Uclies &1

Options:

1) the authority of the king

ST & SRR

2) the secular power of the country
321 1 eifaRger arfth

3) the practice of religion

o GIEET

4) the purity of the country

21 it gfRar

Correct Answer: the practice of religion

ef greET

Candidate Answer: the practice of religion

o T

QID : 186 - How CNG is a cleaner fuel?

L. It produces oxides of Sulphur and Nitrogen in very small amounts.
II. It makes environment less polluted.

III. It emits less greenhouse gases.

HrgToit Teh e ge Y 87

L. I8 T qUT ATSEISH oh SNTFATTS ol TG 3T AT | dhee gl

11. I ITTERYT &t HH TGS ST
111. 78 &7 MHEsT A9 IAfSid ol 21
Options:

1) OnlyIand I

haet I a1

2) Only Il and III

Shaet 11 qr 111

3)OnlyIand III

thaet I aar 111

4) All 1, IT and III

I, I1 o 111 Toft

Correct Answer: All I, IT and III
I, I1 o 111 Toft

Candidate Answer: All I, IT and III
I, I1 o 111 goft

QID : 187 - In a compound the elements are always present in definite proportions by .

foreht off e & aca 9T e fAfga & 31U # foem™ gid 8|

Options:

1) mass

QAT

2) volume

S

3) size

3MThR

4) No option is correct.
3 e Tel ol 8
Correct Answer: mass
ST

Candidate Answer: mass
A

QID : 188 - The Chief Election Commissioner of India holds the office for .

AR & g T AR & ToIg ahrafers STera & |

Options:

1) 60 years of age or for six years, whichever early
60 T 31T SreraT B ST o forg, Sit +ft uge &

2) 65 years of age or for six years, whichever early
65 aY 31T 31T Bg s o forg, St +ft uge &

3) 70 year of age or for six years, whichever early

70 o 31y Sram g anf & farg, Sit oft g &



4) 55 year of age or for five years, whichever earl . _
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Correct Answer: 65 years of age or for six years, whichever early
65 T 1Y 37aT B aNT o forg, i +ff ugt &t
Candidate Answer: 65 years of age or for six years, whichever early

65 Y 31y 37yaT BE ANt o forg, it off uget &t

QID : 189 - The Attorney General of India is the of the Government of India.

IRd & HEFIAR YRAWRBR b 8l
Options:

1) Chief Account Officer

&g @ AYRRY

2) Chief Law Officer

T g e

3) Chief Audit Officer

T s e

4) Chief Election Officer

g gATa YRR

Correct Answer: Chief Law Officer
T I YRR

Candidate Answer: Chief Audit Officer
T 3iffee e

QID : 190 - Which of the following is a CORRECT relation of length of small intestines of an herbivore and a carnivore?

iR & O S I1 U ATRTERY TUT Yo AIATERT 3 elaidl i oiems o1 q@Y Taiy 27
Options:

1) Herbivore = Carnivore

MR = HIATERY

2) Herbivore < Carnivore

MERTETRY < HIETETY

3) Herbivore > Carnivore

MEATERY > HIETETY

4) No option is correct.

13 fapen Tgt T8t 81

Correct Answer: Herbivore > Carnivore
MAIERT > AATERY

Candidate Answer: Herbivore < Carnivore

MHRTERY < HAATERY

QID : 191 - Limbs of frog, lizard, bird and human are example of organs.

T, U, uefi qurAMa i ug __ 3T & ISTER0T &
Options:

1) Homogenous

qrEHt

2) Heterogeneous

ey

3) Analogous

AEY

4) Homologous

HHSIT

Correct Answer: Homologous
AT

Candidate Answer: Heterogeneous

oy

QID : 192 - Energy Efficiency Services Limited (EESL) launched UJALA scheme in which country in September, 2017?

Fol G&raT e Hifd (3599Te) A Rawr 2017 7, fohe 31 & IS (TSQQe]) TSI a1 aAtehTdoT fopar?

Options:

1) Indonesia
EGEINg

2) Malaysia
At

3) Maldives
Aqredla
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Correct Answer: Malaysia

TAfmr
Candidate Answer: [ NOT ANSWERED ]

QID : 193 - India’s fastest and first multi - petaflops supercomputer named Pratyush was unveiled at

VR T TG a9 TUT UEe Ig-UeToaie TGV AT GURhFGeR | @R gem ol
Options:

1) Indian Institute of Science, Bangalore

2) Indian Space Research Organisation, Bangalore

VR SaRer Srgdem e, IR

3) Indian Institute of Tropical Meteorology, Pune

4) Indian Institute of Technology, New Delhi

WRATT Tenfihr deam, 75 Reeht

Correct Answer: Indian Institute of Tropical Meteorology, Pune

Candidate Answer: Indian Institute of Science, Bangalore

QID : 194 - In December 2017, SEBI raised the investment limit for FPIs in central government securities to over from January 2018.

feEmR 2017 #, Gt 7 iy Iepr ufaeffoat § qwdiens & forg sest 2018 S Fasr A dfim__ e aer &l
Options:

1) Rs 1.91 lakh crore

1.91 9RG S T

2) Rs 3.91 lakh crore

3.91 I WIS T

3) Rs 5.91 lakh crore

5.91 R FRIS T

4) Rs 0.91 lakh crore

0.91 IR FAE I

Correct Answer: Rs 1.91 lakh crore
1.91 G IS T

Candidate Answer: Rs 5.91 lakh crore
5.91 A RIS 3

QID : 195 - On 8 June 2017, Law Ministry cleared the Prevention of Cruelty to Animals (Karnataka Amendment) Bill, 2017. It will help in legalising .

8 S 2017 S, T HATerd A GRS & T Y ARATH (GFitees Temer) e, 2017 Y st & &1 a8 & Y T § 7 HAT

Options:
1) Jalikattu

Sefteheg,

2) Cockfight

T Bl oFerd

3) Bailgadi Shariat
ESUISIRINEC]

4) Kambala
hHITAT

Correct Answer: Kambala
AT

Candidate Answer: Jalikattu

STefteheg,

QID : 196 - What is the resistance (in Q) of an electrical component if a current of 0.1 A passes through it on application of 5 V of potential difference across
it?

foneht feregeita el ot wfeReren (Q #) fonam g afe 3o @ 0.1 A oRT vanfRd gt & e fRsrar=R 5V &2
Options:

1)0.5

2) 100

3)50
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Correct Answer: 50
Candidate Answer: [ NOT ANSWERED ]

QID : 197 - The motion of a freely falling body is an example of accelerated motion.

Wdd w0 F R T g aeg I fd Rk f ot Iargeor 81
Options:

1) non-uniformly

AT

2) uniformly

TehgHA

3) uniquely

fRreeror

4) specially

fagy

Correct Answer: uniformly
THTA

Candidate Answer: uniformly
TR

QID : 198 - Increased wind speed is accompanied by a reduced air

UG T 37T g TR ARG T ____ A gl ST1aT &l
Options:

1) humidity

g

2) pressure

HE]

3) density

gad

4) aridity

RAShdT

Correct Answer: pressure
HE)

Candidate Answer: aridity
[Sehell

QID : 199 - Which of the statements given below are correct?

A) In 2017, Sebastian Vettel raced in Formula One for Ferrari.
B) Grigor Dimitrov won the Tennis 2017 Cincinnati Masters Men's Singles.
C) In 2017 Pro Kabaddi League, Nitin Tomar played for Jaipur Pink Panthers.

T dd s TR T &2

A) g 2017 & Yafae dgat 3 TR & forg widen a1 & fewan foram
B) fiik fefisia 3 2 2017 RARArE) aresd A= Rire Sfiam
C) a¥ 2017 & T hag! ot A ffas AR SaqR fies g & fog @<
Options:

1)Aand B

ASRB

2)AandC

AR C

3)Band C

B3R C

4) None of these

ZTH A BIS Aol

Correct Answer: A and B

A3RB

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - In Microsoft Word, are small dots, squares, dashes or graphics that are often seen before the text.

TR A d, B g, o, du ar e 813 & ot v urew @ uga R 24§
Options:

1) Indentation
—_—



QIOCXIN

2) Bullets
ERES

3) Numbering
iR (Hafm)
4) Tabs

&

Correct Answer: Bullets

geley

Candidate Answer: [ NOT ANSWERED ]
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